= 2M HyAXt HYLA HAZH(R) CH 2ol &
o|B| AR 2 2015-04-01 |9|3| 2 1hal ZtEtg| 72,000 4
o|| At = 2015-04-03 |9|3| &Y 2t ZIErs| 130,000 5%
O|B| AR 2 2015-04-07 |o|Q Aielz=g} 7jo|3 ¢ 29,000 == 70
o3| AR 2 2015-04-07 |9|3| 2 T2l ZtEtg| 64,000 A
O|B| AR 2 2015-04-08 |2|3| S{OFAIOL =0|2 Q|| ZIEtS| 150,000 6%
o||AtE = 2015-04-09 |=Z=Q|A% 7| st 12 100,000 == 70
ol AR = 2015-04-10 |9|3| &Y 2t ZHEts 195,000 73
o|B| AR 2 2015-04-13 |9|3| 2 1haf ZtEtg| 43,700 6
o|| At = 2015-04-16 |9|3| & 2t ZIErs 160,000 6%
O|B| AR 2 2015-04-17 |9|3| &F S{OIAIO =0|2 Q|38} 7IES 425,000 129
o|B| AR 2 2015-04-20 |9|3| &Y 2t ZIErs 150,000 6%
O|B| AR 2 2015-04-21 |9|3| &Y 2t ZiEts 260,000 o
o|B| AR 2 2015-04-23 |9|3| 2 1hal ZtEt| 63,000 7%
O|B| AR 2 2015-04-23 |9|g|AtR 2 B XX XIQ 77 7HCtY| 251,000 109
o|B| AR 2 2015-04-29 |KIE2HAMQ S| ZLHH| DA|E 284 7HELS 335,000 159
o|| At = 2015-04-07 |9|3| 2 T2l ZtEtg| 61,000 3%
O|B| AR 2 2015-04-08 |2|3| S{OFAIOL =0|2 Q|| ZEtS| 300,000 109
o|B| AR 2 2015-04-09 |9|3| &Y 2t ZIErs 273,000 119
O|B| AR 2 2015-04-10 |9|3| &Y 2t ZiEts| 19,000 2%
o|B| AR 2 2015-04-13 |9|3| & 2t ZIErs 75,000 A
o|| AR = 2015-04-16 |9|3| &Y a2 ZIEts| 26,000 29
o|B| AR 2 2015-04-20 |9|3| 2 Thal ZtEt| 100,000 4
o|| At = 2015-04-21 |9|3| 2 T2l ZtEtg| 23,000 29
O|B| AR 2 2015-04-22 |9|3| &Y 2t ZiEts 44,000 2%
o|B| AR 2 2015-04-23 |O|3|AFRZ QB XX X1 Z 7 7HEHY 251,000 109
o|B| AR 2 2015-04-27 9|3 &Y 2t ZiEks 100,000 4
o|B| AR 2 2015-04-28 |ME2HAQ S| ZLHH| DA|E 23 ZHELS| 240,000 159
o||AtE = 2015-04-01 |9|3| 2 a1 Ztetg| 23,000 39




O|B| AR =2 2015-04-07 |9|3| % 2+ ZtELS 14,000 29 1=

ol A= 2015-04-07 |9|3| 2 Thal ZtErS| 30,000 2 1=

o||AtE = 2015-04-08 |9|3| & Tha ZtEt3| 10,500 29 1=

ol AR = 2015-04-08 |9|3| 2 Thad ZtEt| 26,000 2 1=

o||AtE = 2015-04-08 |2|3| &Y T2 ZtEtg| 45,000 3% 1=

ol AR = 2015-04-09 |9|3| 2 Thal ZtEt| 50,000 4 1=

o||AtE = 2015-04-10 |9|3| Y 2+ ZtErg 26,000 2 1=

O|B|A R =2 2015-04-13 |9|3| & SIOIAIO =0|2 2|3} 7}ELS 108,000 49 1=

o|| A= 2015-04-13 |9|3| 2 Thal ZtEr| 23,500 50 1=

o||AtE = 2015-04-14 |9|3| Y 2+ ZtErS 200,000 ol 1=

ol AR = 2015-04-16 |°|3| SIQIAIOL L=0|= Q|B} ZIES 200,000 10 1=

o||AtE = 2015-04-22 |9|3| & 2+ ZtErS 22,000 33 1=

ol AR = 2015-04-23 9|3 2 Thal ZtEtg| 36,000 4 1=

o||AtE = 2015-04-23 |9|3| Y 2t ZtErS 16,000 2 1=

O|B| AR =2 2015-04-28 |9|3| 2 T3 ZtEt| 50,000 3H 1=

o||AtE = 2015-04-29 |9|3| 2 Thad ZtEtg| 51,000 3% 1=

o||AtE = 2015-04-30 |2|3| @ B3 ZIEHg 225,000 10 1=

ol A= 2015-04-06 |H™MEX|QYUS| S Tt 7IEtg| 30,000 29 1=

o||AtE = 2015-04-07 |SH™MEX|QUS| 2F 3 7IEtg| 42,000 33 1=

|| AR = 2015-04-08 |SH™MEX|QLYUS| SF Tt 7IEtg| 18,000 29 1=

O|z| 2EYEFT O|[AtRE = 2015-04-15 |AFY=X[9 32| 2F &&H 7t 38,000 39 7tE
HEHSK[ AT O|P| AR = 2015-04-20 |AFYEX| @2 2F #&H 7t 27,000 23 7tE
o||AtE = 2015-04-21 |H™MEX|QYUS| &F Tt 7IEtg| 15,000 29 1=

O|Z| AR = 2015-04-23 |AHSX| [ 2| SAQAIRH =0| & ¢/t 7HEH 3 150,000 69 7tE

ol AR = 2015-04-28 |H™MEX|Q US| &F Tt 7IEtg| 130,000 50 1=

o||AtE = 2015-04-01 |REZAAQQUS| 2F T ZIEtg| 199,000 63 1=

o|| AR = 2015-04-03 |KIEAHAQUS| 2F T ZIEtg| 205,000 o 1=

o||AtE = 2015-04-06 |AEZAAQQAS| 2F T ZHEt3| 95,000 3y 1=

O|P| AR = 2015-04-10 |MEHEL A 2F QAR =2|E f|ot 7HEH 170,000 7Y 7tE

ol AR = 2015-04-13 |KI2HAQ US| 2F T 7IEtg| 146,000 10 1=

o7 2YYFFT O|P| AR = 2015-04-13 |MEHHL A 2F &EH ZHHT| 96,000 5% 7tE
MWEALRI AT OIS AR = 2015-04-15 |X|RAHAMQUS| 2 e ZiEts| 160,000 54 1=
o||AtE = 2015-04-22 |RRAAQUS| 2F T ZIEtg| 39,000 3% 1=

o|B| AR =2 2015-04-23 |KIEAHAQAS| 2F T ZIEtg| 28,000 29 1=




Q2 MF= 2015-04-24 |MIPAERRe| 2F & I3 7tE
Qe[ F= 2015-04-24 |MEZAHEA 2F 2HE ZHE 9| 7t=
Q2 M7= 2015-04-30 [MFZ QS| FLHHWAIE 28 ZHE 3| 7tE
Qe[ M7= 2015-04-01 |2&54 2HSF THAES) 7tE
Q|2 M7= 2015-04-01 [Eoi0s=|2 ofsAF 7124 A o e s 2td 7IHS| 7tE
Q2 MF= 2015-04-02 | M=S5EA H4lnf3 45| 3 o|¥ets &E ZIHS 7tE
Qe[ A F= 2015-04-04 |ar=37)] HEAHEZ F=SA A o s AH IIHS 7t=
Q2 MF= 2015-04-06 |54 2F=5 THAES) 7tE
Qe[ M7= 2015-04-08 |28 olz| o|ges £HE ZHE S| 7t=
Q|2 M7= 2015-04-09 |28 ols| o|ges &E ZHES| 7tE
Ol AMF= 2015-04-09 |28 olz| ol ges £HE ZHE 9| 7t
Ol MF= 2015-04-10 [2@olz| o FEs &H 2UEHS| 7tE
Q2 MF= 2015-04-12  |Hl4z| =g HESH A oI¥es 2HE 29| 7tE
Qe[ A F= 2015-04-13 [2&5H 2H=5 TGS 7tE
Q2 MF= 2015-04-13 2@ o3| o gL s &H 2IEHS| 7tE
Qe[ M7= 2015-04-13 |ot0tg M IO= 58 5 A ZHOIH|
Ol MF= 2015-04-14 (254 2H=E THAS) 7tE
o O|2|AtRE= 2015-04-15 [X|2313| YA|Z| 2HH ZHEFS| 7tE
= Ol MF= 2015-04-16 | A[2312| ZA|=| AE K| 2= S4EH| 7tE
Q2| M 7= 2015-04-16  |A[2312| A= P AL = SAEH| 7tE
Qs M F= 2015-04-17 [H|2313| YA|2| WYX ¢/ SHEH| 7=
Q2 M7= 2015-04-17  |A2312| A= M7 H 2= SAEH| 7tE
O|B|A R = 2015-04-17 |2EHFo|3| o|™=ets 2tH ZHEr S| 7tE
Ol MF= 2015-04-20 |A[2312| ZA|=| AESK| P A= S4EH| 7tE
Q2| AMF= 2015-04-20 |A[2312| A= MZ AL SAFH| 7t
Qe A F= 2015-04-21 |X|231%| ZA|=| AEYSK 2= S4EH| 7tE
Q2| M 7= 2015-04-21 |X2312| A= P AL = SAFH| 7tE
O|Z|AtR = 2015-04-21 [X|2312] A3 o|H=E 2t 7HE 7tE
O|3| AR = 2015-04-22 |M|2313| YA|Z| NI2Xt 23|9| 2H& ZHED| 7tE
Q2 AME= 2015-04-24 254 RHSF TYU6S) 7t
Ol MF= 2015-04-24 |54 2H=E THAS) 7tE
Q2| AMF= 2015-04-29 |2&54 2H=F THAEDS) 7t
Qe M F= 2015-04-30 |28 o|z| o s &#H UEHS| 7t=




